Monday, February 27, 2017 1:08 PM

\/\)eoQ. Mach _{],j:l;

/’\V\V\O\&chw\ev\\—g
jj*" up Lor ’H\e

&\Mz 3 Q(:\"«\L‘C
5"”"”‘“‘[ - TM Sola'\/
Marl, 5-7

T4 retake scove S L\‘\J\Aef
Than 12 score, Linal score
will be ca\c\»\a\-e d « S

= g—r-l

Fiwa Qe-\a\e
Tf feh\u Score 1S \owef) ‘H\JV\

S;,,.\ - Sig

Ch. 6 Page 1



Page 14

Thursday, February 23, 2017 12:43 PM

We will determine the force in each member of the truss and
indicate whether the members are in tension or compression.
Evaluate the forces F¢p and Fgc
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We will determine the force in each member of the truss and
indicate whether the members are in tension or compression.
6) Evaluate the force Fpjy:

—4+ ompression)

C. 7.10 kN (tension)
D. 7.10 kN (compression)
E. None of the above
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We will determine the force in each member of the truss and

indicate whether the members are in tension or compression.

7) Evaluate the force Fppg: R 5
A. 4.10 kN (tension >
4 TOKN (compression) 30° )30

C. 7.10kN (tension) Y 1oy % qroka
D. 7.10 kN (compression) \ 30 .
E. None of the above 2 ¥ A =) s 30
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We will determine the force in each member of the truss and
indicate whether the members are in tension or compression.

Evaluate the force Fp:
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Example 2) =
Determine the force in e truss and
state if the member is in tensiomo compression.
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B. 200 1bt
C. 4001b |
D. 2001b |

internal forces

A 0

B 4001b

C. —4001b
D. 666.7 b
E. —666.71b

Example 3) What is the reaction force at C?
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Use the method of joints to determine the internal force in all the truss members. Use the convention

that members in tension have positive internal forces and members in compression have negative
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Zero-force members

Particular members in a structure may experience no force for certain loads.

® Zero-force members are used to increase instability

. ldentifying members with zero-force can expedite analysis.
Two situations:

® Joint with two non-collinear members, no external or support reaction applied to the

joint = Both members are zero-force members. ( Z F /W

® Joint with two collinear member, plus third non-collinear, no loads applied to the joint —
Non-collinear member is a zero-force member.
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